DOI: https://doi.org/10.2298/PIM2328091S

# TURÁN-TYPE INEQUALITIES OF POLYNOMIALS

# Robinson Soraisam, Barchand Chanam, and Mahmood Bidkham

ABSTRACT. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree *n* having all its zeros in  $|z| \leq k, k \geq 1$ , V.K. Jain [Bull. Math. Soc. Sci. Math. Roum., Nouv. Sér. **59** (2016), 339–347] proved

 $\max_{|z|=1} |p'(z)| \ge \frac{n\left(|a_0| + |a_n|k^{n+1}\right)}{|a_0|\left(1 + k^{n+1}\right) + |a_n|\left(k^{n+1} + k^{2n}\right)} \max_{|z|=1} |p(z)|.$ 

We first obtain a generalization as well as improvement of the above inequality. Further, we extend our first result to a more generalized result which yields improved results of some known inequalities as particular case.

## 1. Introduction and preliminaries

Let p(z) be a polynomial of degree n, then Bernstein's well-known inequality [1] is  $\max_{|z|=1} |p'(z)| \leq n \max_{|z|=1} |p(z)|$ . If we are interested to obtain a lower bound estimate of  $\max_{|z|=1} |p'(z)|$  in terms of  $\max_{|z|=1} |p(z)|$ , such problems do not exist in literature. However, if the polynomial p(z) has all its zeros in  $|z| \leq 1$ , then Turán [14] proved that

(1.1) 
$$\max_{|z|=1} |p'(z)| \ge \frac{n}{2} \max_{|z|=1} |p(z)|.$$

Inequality (1.1) is sharp and equality holds for  $p(z) = \alpha z^n + \beta$ , where  $|\alpha| = |\beta|$ . Inequality (1.1) of Turán [14] has been of considerable interest and applications and it would be of interest to seek its generalization for polynomials having all their zeros in  $|z| \leq k, k > 0$ . The case when  $0 < k \leq 1$  was settled by Malik [8] and proved

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k} \max_{|z|=1} |p(z)|.$$

While for the case  $k \ge 1$ , Govil [4] proved

(1.2) 
$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^n} \max_{|z|=1} |p(z)|.$$

91

<sup>2020</sup> Mathematics Subject Classification: Primary 30A10; 30C15; Secondary 30C10. Key words and phrases: polynomial, derivatives, Turán-type inequalities, Schwarz lemma. Communicated by Gradimir Milovanović.

Equality in (1.2) holds for  $p(z) = z^n + k^n, k \ge 1$ . Under the same hypothesis, it was Govil [5] who improved upon (1.2) by proving

(1.3) 
$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^n} \Big\{ \max_{|z|=1} |p(z)| + \min_{|z|=k} |p(z)| \Big\}.$$

Equality in (1.3) holds for  $p(z) = z^n + k^n, k \ge 1$ . Recently, Jain [7] proved an improvement of inequality (1.2), incorporating the leading coefficient and constant term of the polynomial by using the generalized form of Schwarz's classical lemma.

THEOREM 1.1. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree n having all its zeros in  $|z| \leq k, k \geq 1$ , then

$$\max_{|z|=1} |p'(z)| \ge \frac{n(|a_0| + |a_n|k^{n+1})}{|a_0|(1+k^{n+1}) + |a_n|(k^{n+1}+k^{2n})} \max_{|z|=1} |p(z)|.$$

For a better insight into both Bernstein and Turán-type inequalities, one can refer to recently published monograph of Gardner et al. [3] (also see Marden [9], Milovanović et al. [10], Rahman and Schmeisser [12]).

## 2. Main results

In this paper, we consider the class of polynomials of degree  $n \ge 2$  having a zero of order  $s, 0 \le s \le n-2$ , at the origin. For polynomial of degree 1, the polynomial is simply  $p(z) = a_0 + a_1 z$  and hence, we can easily evaluate  $\max_{|z|=1} |p(z)| = |a_0| + |a_1|$  and  $\max_{|z|=1} |p'(z)| = |a_1|$ . Also, when s = n - 1, the polynomial is  $p(z) = a_{n-1}z^{n-1} + a_nz^n$  and hence trivially, we have  $\max_{|z|=1} |p(z)| = |a_{n-1}| + |a_n|$  and  $\max_{|z|=1} |p'(z)| = (n-1)|a_{n-1}| + n|a_n|$ . So, in both cases, we need not to find their estimates as their exact values are known. We first prove the following generalization as well as improvement of Theorem 1.1. More precisely, we prove

THEOREM 2.1. If  $p(z) = \sum_{\nu=s}^{n} a_{\nu} z^{\nu}$ ,  $0 \leq s \leq n-2$ , is a polynomial of degree  $n \geq 2$  having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then

$$\max_{|z|=1} |zp'(z) - sp(z)| \ge \frac{(n-s)(|a_s| + |a_n|k^{n-s+1})}{|a_s|(1+k^{n-s+1}) + |a_n|(k^{n-s+1} + k^{2n-2s})} \max_{|z|=1} |p(z)| + \frac{|a_s|k + |a_n|k^{n-s}}{|a_s|(1+k^{n-s+1}) + |a_n|(k^{n-s+1} + k^{2n-2s})} \zeta(k,s),$$

where

$$(2.1) \quad \zeta(k,s) = \begin{cases} |a_{s+2}|k^{n-s-6}(k^4-1)(\sqrt{k^4+1}-1), & \text{if } s \leq n-5, \quad n \geq 5, \\ |a_{s+2}|(k^2-1)(\sqrt{k^4+k^2+1}-1), & \text{if } s = n-4, \quad n \geq 4, \\ |a_{s+2}|k(\sqrt{\frac{k^4+1}{2}}-1), & \text{if } s = n-3, \quad n \geq 3, \\ |a_{s+1}|(k^2-1), & \text{if } s = n-2, \quad n \geq 2. \end{cases}$$

REMARK 2.1. Setting s = 0 in Theorem 2.1, we get the following improvement of Theorem 1.1 recently proved by Jain [7] as well as inequality (1.2), for polynomials of degree  $n \ge 2$ . COROLLARY 2.1. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree  $n \ge 2$  having all its zeros in  $|z| \le k, k \ge 1$ , then

$$\max_{|z|=1} |p'(z)| \ge \frac{n(|a_0| + |a_n|k^{n+1})}{|a_0|(1+k^{n+1}) + |a_n|(k^{n+1}+k^{2n})} \max_{|z|=1} |p(z)| + \frac{|a_0|k + |a_n|k^n}{|a_0|(1+k^{n+1}) + |a_n|(k^{n+1}+k^{2n})} \zeta(k),$$

where

(2.2) 
$$\zeta(k) = \begin{cases} |a_2|k^{n-6}(k^4-1)(\sqrt{k^4+1}-1), & \text{if } n \ge 5, \\ |a_2|(k^2-1)(\sqrt{k^4+k^2+1}-1), & \text{if } n = 4, \\ |a_2|k\Big(\sqrt{\frac{k^4+1}{2}}-1\Big), & \text{if } n = 3, \\ |a_1|(k^2-1), & \text{if } n = 2. \end{cases}$$

REMARK 2.2. As  $\zeta(k)$  given by (2.2) is non-negative, it follows immediately that Corollary 2.1 gives improved bound over Theorem 1.1. And to show that the bounds of Corollary 2.1 is an improvement of (1.2), it is sufficient to show that

$$\frac{|a_0| + |a_n|k^{n+1}}{|a_0|(1+k^{n+1}) + |a_n|(k^{n+1}+k^{2n})} \ge \frac{1}{1+k^n},$$

which is equivalent to showing  $|a_n|(k^{2n+1}-k^{2n}) \ge |a_0|(k^{n+1}-k^n)$ , that is  $k^n|a_n| \ge |a_0|$ , which clearly holds by Lemma 3.6 with  $\lambda = 0$ .

REMARK 2.3. In some cases the improvement can be significant and this we show by means of the following example.

EXAMPLE 2.1. Consider  $p(z) = z^3 + 3z^2 + \frac{11}{4}z + \frac{3}{4}$ . Clearly p(z) is a polynomial of degree 3 having all its zeros in  $|z| \leq \frac{3}{2}$ . We take k = 2 and find that

$$\begin{aligned} \max_{\substack{|z|=1}} |p(z)| &= 7.5.\\ \min_{\substack{|z|=2}} |p(z)| &= 0.75.\\ \max_{\substack{|z|=1}} |p'(z)| &\ge 2.5, \quad \text{(by (1.2))}.\\ \max_{\substack{|z|=1}} |p'(z)| &\ge 4.06, \quad \text{(by Theorem 1.1)}.\\ \max_{\substack{|z|=1}} |p'(z)| &\ge 5.24, \quad \text{(by Corollary 2.1 for } n = 3). \end{aligned}$$

Further, we extend Theorem 2.1 to a more generalized result which yields an improved result of some known inequalities as particular case.

THEOREM 2.2. If  $p(z) = \sum_{\nu=s}^{n} a_{\nu} z^{\nu}$ ,  $0 \leq s \leq n-2$ , is a polynomial of degree  $n \geq 2$  having all its zeros in  $|z| \leq k$ ,  $k \geq 1$ , then for  $0 \leq l < 1$  and  $m = \min_{|z|=k} |p(z)|$ 

$$(2.3) \quad \max_{|z|=1} |zp'(z) - sp(z)| \ge \frac{(n-s)(|a_s|k^s + lm + |a_n|k^{n+1})}{(|a_s|k^s + lm)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ \times \left\{ \max_{|z|=1} |p(z)| + \frac{lm}{k^s} \right\} \\ + \frac{(|a_s|k^s + lm)k + |a_n|k^n}{(|a_s|k^s + lm)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \zeta(k, s),$$

where  $\zeta(k, s)$  is as defined in (2.1).

REMARK 2.4. Putting l = 0, Theorem 2.2 reduces to Theorem 2.1.

REMARK 2.5. Setting s = 0 in Theorem 2.2, we get the following generalization of Corollary 2.1 as well as improvement of inequality (1.3) and a result recently proved by Mir [11, Theorem 2], for polynomials of degree  $n \ge 2$ .

COROLLARY 2.2. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree  $n \ge 2$  having all its zeros in  $|z| \le k$ ,  $k \ge 1$ , then for  $0 \le l < 1$  and  $m = \min_{|z|=k} |p(z)|$ 

$$(2.4) \qquad \max_{|z|=1} |p'(z)| \ge \frac{n(|a_0| + lm + |a_n|k^{n+1})}{(|a_0| + lm)(1 + k^{n+1}) + |a_n|(k^{n+1} + k^{2n})} \\ \times \left\{ \max_{|z|=1} |p(z)| + lm \right\} \\ + \frac{(|a_0| + lm)k + |a_n|k^n}{(|a_0| + lm)(1 + k^{n+1}) + |a_n|(k^{n+1} + k^{2n})} \zeta(k),$$

where  $\zeta(k)$  is as defined in (2.2).

REMARK 2.6. Since  $\zeta(k) \ge 0$ , to verify that inequality (2.4) of Corollary 2.2 is an improvement of inequality (1.3) due to Govil [5], it is sufficient to show that

$$\frac{|a_0| + lm + |a_n|k^{n+1}}{(|a_0| + lm)(1 + k^{n+1}) + |a_n|(k^{n+1} + k^{2n})} \ge \frac{1}{1 + k^n},$$

which is equivalent to

$$|a_n|(k^{2n+1} - k^{2n}) \ge (|a_0| + lm)(k^{n+1} - k^n),$$

that is

$$|k^n|a_n| \ge |a_0| + lm_1$$

which clearly holds by Lemma 3.6.

REMARK 2.7. Here also, in some cases the improvement is significant and we illustrate this with the help of the previous example 2.1.

For k = 2, we have

$$\max_{|z|=1} |p'(z)| \ge 2.75, \quad (by (1.3)),$$

whereas

$$\max_{|z|=1} |p'(z)| \ge 5.3, \quad (by (2.4) \text{ of Corollary 2.2 for } n=3 \text{ and } l=1)$$

### 3. Lemmas

We shall need the following lemmas in order to prove the above theorems and verify the claims. For a polynomial p(z) of degree n, we will use  $q(z) = z^n \overline{p(\frac{1}{z})}$ . The first lemma is due to Frappier et. al. [2].

LEMMA 3.1. If  $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree n and let  $R \ge 1$ . Then,

(3.1) 
$$\max_{|z|=R} |p(z)| \le R^n \max_{|z|=1} |p(z)|$$

$$-|p'(0)|(R^{n-1}-R^{n-3})(\sqrt{R^2+1}-1), \quad n \ge 4,$$

(3.2) 
$$\max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)|$$

$$-|p'(0)|(R^2 - R)(\sqrt{R^2 + R + 1} - 1), \quad n = 3,$$

(3.3) 
$$\max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)| - |p'(0)| R\left(\sqrt{\frac{R^2 + 1}{2}} - 1\right), \quad n = 2,$$

(3.4)  $\max_{|z|=R} |p(z)| \leq R \max_{|z|=1} |p(z)| - (R-1)|p(0)|, \quad n = 1.$ 

LEMMA 3.2. Let f(z) be analytic in |z| < 1, with f(0) = a and  $|f(z)| \leq M$ , |z| < 1. Then

$$|f(z)| \leq M \frac{M|z| + |a|}{|a||z| + M}, \quad |z| < 1.$$

Lemma 3.2 is a well-known generalization of Schwarz's lemma [13, p. 212].

LEMMA 3.3. Let f(z) be analytic in  $|z| \leq 1$ , with f(0) = a and  $|f(z)| \leq M$ ,  $|z| \leq 1$ . Then

$$|f(z)| \leqslant M \frac{M|z| + |a|}{|a||z| + M}, \quad |z| \leqslant 1.$$

PROOF. It easily follows from Lemma 3.2.

LEMMA 3.4. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree n having all its zeros in  $|z| \leq 1$ , then

$$|q'(z)| \le |p'(z)|.$$

The above lemma is due to Jain [7].

LEMMA 3.5. If 
$$p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$$
 is a polynomial of degree n, then  

$$\max_{|z|=1} |p'(z)| + \max_{|z|=1} |q'(z)| \ge n \max_{|z|=1} |p(z)|.$$

The result is due to Govil et al. [6].

LEMMA 3.6. If  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree n having all its zeros in  $|z| \leq k$ , k > 0, then for any complex number  $\lambda$  with  $|\lambda| < 1$  and  $m = \min_{|z|=k} |p(z)|$ 

$$k^n |a_n| \ge |\lambda| m + |a_0|.$$

PROOF. By hypothesis,  $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree *n* having all its zeros in  $|z| \leq k, k > 0$ . Then, the polynomial  $P(z) = e^{-i \arg a_0} p(z)$  has the same zeros as p(z). Here,

$$P(z) = e^{-i \arg a_0} \{ |a_0| e^{i \arg a_0} + a_1 z + \dots + a_{n-1} z^{n-1} + a_n z^n \}$$
  
=  $|a_0| + e^{-i \arg a_0} \{ a_1 z + \dots + a_{n-1} z^{n-1} + a_n z^n \}.$ 

Now, on |z| = k for any complex number  $\lambda$  with  $|\lambda| < 1$  and  $m = \min_{|z|=k} p(z) \neq 0$ , we have

$$|\lambda|m < m \leqslant |P(z)|.$$

Then by Rouche's theorem,  $R(z) = P(z) + |\lambda|m$  has all its zeros in |z| < k and in case m = 0, R(z) = P(z). Thus, in any case, R(z) has all its zeros in  $|z| \leq k$ . Now, applying Vieta's formula to R(z), we get  $\frac{|a_0|+|\lambda|m}{|a_n|} \leq k^n$ , i.e.,  $k^n |a_n| \geq |\lambda|m + |a_0|$ , which completes the proof of the Lemma 3.6.

# 4. Proof of the Theorems

PROOF OF THEOREM 2.2. Let us first assume that  $p(z) = \sum_{\nu=s}^{n} a_{\nu} z^{\nu}$  is a polynomial of degree  $n \ge 5$  and  $s \le n-5$ . By hypothesis, p(z) has all its zeros in  $|z| \le k, k \ge 1$ . Now,

$$(4.1) p(z) = z^s j(z),$$

where

(4.2) 
$$j(z) = a_s + a_{s+1}z + \dots + a_n z^{n-s},$$

is a polynomial of degree  $n - s \ge 5$ . Consider a polynomial

(4.3) 
$$R(z) = p(z) + \frac{m}{k^s} \lambda z^s,$$

where  $\lambda$  is any complex number with  $|\lambda| < 1$  and  $m = \min_{|z|=k} |p(z)|$ . Suppose  $m \neq 0$ , then for |z| = k

$$\left|\frac{m}{k^s}\lambda z^s\right| < m \leqslant |p(z)|.$$

Then by Rouche's theorem, it follows that R(z) has all its zeros in |z| < k and in case m = 0, R(z) = p(z). Thus, in any case, R(z) has all its zeros in  $|z| \leq k, k \geq 1$ . Now,

(4.4) 
$$R(z) = \frac{\lambda m}{k^s} z^s + a_s z^s + a_{s+1} z^{s+1} + \dots + a_n z^n = z^s h(z),$$

where

(4.5) 
$$h(z) = \frac{\lambda m}{k^s} + a_s + a_{s+1}z + \dots + a_n z^{n-s},$$

and

(4.6) 
$$g(z) = z^{n-s}h\left(\frac{1}{\bar{z}}\right).$$

From (4.2) and (4.5), we have

(4.7) 
$$j'(z) = h'(z).$$

We observe that

is a polynomial of degree  $n - s \ge 5$  having all its zeros in  $|z| \le 1$  and

(4.9) 
$$G(z) = z^{n-s} \overline{H\left(\frac{1}{\overline{z}}\right)} = k^{n-s} \left(\frac{z}{k}\right)^{n-s} h\left(\frac{k}{\overline{z}}\right) = k^{n-s} g\left(\frac{z}{k}\right), \quad (by (4.6)).$$

By Lemma 3.4, we have

(4.10) 
$$G'(z) \leqslant H'(z), \quad |z| = 1.$$

Using (4.10) we can say that a zero  $z_j$ , with  $|z_j| = 1$  and multiplicity  $m_j$ , of H'(z) will also be a zero, with multiplicity  $(\ge m_j)$ , of G'(z), thereby helping us to write

(4.11) 
$$H'(z) = \phi(z)H_1(z),$$

(4.12) 
$$G'(z) = \phi(z)G_1(z),$$

where

$$\phi(z) = \begin{cases} 1, & H'(z) \neq 0 \text{ on } |z| = 1, \\ \prod_{j=1}^{p} (z - z_j)^{m_j}; |z_j| = 1 \forall j, & H'(z) \text{ has certain zeros on } |z| = 1. \end{cases}$$

Now,

(4.14) 
$$H_1(z) \neq 0, \quad |z| = 1.$$

By (4.10), (4.11) and (4.12), we have

(4.15) 
$$G_1(z) \leqslant H_1(z), \quad |z| = 1.$$

Now as H(z) has all its zeros in  $|z| \leq 1$ , we can say by Gauss-Lucas theorem that H'(z) will also have all its zeros in  $|z| \leq 1$ . Therefore by (4.11), (4.13) and (4.14), we can say that

(4.16) 
$$\psi(z) = \frac{G_1(z)}{H_1(z)}$$

is analytic in |z| > r, for certain r, with 0 < r < 1, including  $\infty$  and accordingly

(4.17) 
$$f(z) = \psi\left(\frac{1}{z}\right),$$

with

(4.18) 
$$f(0) = \psi(\infty) = \lim_{z \to \infty} \psi(z),$$
$$= \lim_{z \to \infty} \frac{G'(z)}{H'(z)}, \quad (by (4.16), (4.11) \text{ and } (4.12)),$$
$$= \frac{\overline{\frac{\lambda m}{k^s} + a_s}}{a_n k^{n-s}}$$

is analytic in  $|z| < \frac{1}{r}, \frac{1}{r} \ge 1$ . Further  $|\psi(z)| \le 1, |z| = 1$  by (4.15) and therefore  $|f(z)| \le 1, |z| = 1,$  (by (4.17)),

which by (4.18) and Lemma 3.3, helps us to write

$$|f(z)| \leqslant \frac{|z| + \left|\frac{a_s + \frac{\lambda m}{k^s}}{a_n k^{n-s}}\right|}{1 + \left|\frac{a_s + \frac{\lambda m}{k^s}}{a_n k^{n-s}}\right||z|}, \quad |z| \leqslant 1,$$

i.e.

$$|f(re^{i\theta})| \leqslant \frac{|a_n|k^n r + |a_s k^s + \lambda m|}{|a_s k^s + \lambda m|r + |a_n|k^n}, \quad r \leqslant 1 \text{ and } 0 \leqslant \theta \leqslant 2\pi,$$

i.e.

$$\left|\psi\left(\frac{1}{r}e^{-i\theta}\right)\right| \leqslant \frac{|a_n|k^n r + |a_sk^s + \lambda m|}{|a_sk^s + \lambda m|r + |a_n|k^n}, \quad 0 < r \leqslant 1 \text{ and } 0 \leqslant \theta \leqslant 2\pi, \quad (by (4.17)), \text{ i.e.}$$

$$|\psi(Re^{-i\theta})| \leqslant \frac{|a_n|k^n + |a_sk^s + \lambda m|R}{|a_sk^s + \lambda m| + |a_n|k^nR}, \quad R \ge 1 \text{ and } 0 \leqslant \theta \leqslant 2\pi,$$

i.e.

$$|G_1(Re^{-i\theta})| \leq \frac{|a_n|k^n + |a_sk^s + \lambda m|R}{|a_sk^s + \lambda m| + |a_n|k^nR} |H_1(Re^{-i\theta})|, \quad R \ge 1, \quad (by \ (4.16)),$$

i.e.

$$|G'(Re^{-i\theta})| \leqslant \frac{|a_n|k^n + |a_sk^s + \lambda m|R}{|a_sk^s + \lambda m| + |a_n|k^nR} |H'(Re^{-i\theta})|, \quad R \geqslant 1, \text{ (by (4.11) and (4.12))},$$

i.e.

$$|G'(z)| \leqslant \frac{|a_n|k^n + |a_sk^s + \lambda m||z|}{|a_sk^s + \lambda m| + |a_n|k^n|z|} |H'(z)|, \quad |z| \ge 1,$$

i.e.

$$(4.19) \quad k^{n-s-2} \left| g'\left(\frac{z}{k}\right) \right| \leq \frac{|a_n|k^n + |a_sk^s + \lambda m||z|}{|a_sk^s + \lambda m| + |a_n|k^n|z|} |h'(kz)|, \\ |z| \geq 1, \quad (by \ (4.8) \ and \ (4.9)).$$

By taking  $z = ke^{i\theta}$  in (4.19), we get

$$k^{n-s-2}|g'(e^{i\theta})| \leqslant \frac{|a_n|k^n + |a_sk^s + \lambda m|k}{|a_sk^s + \lambda m| + |a_n|k^{n+1}} |h'(k^2e^{i\theta})|, \quad 0 \leqslant \theta \leqslant 2\pi,$$

which implies

(4.20) 
$$k^{n-s-2} \max_{|z|=1} |g'(z)| \leq \frac{|a_n|k^n + |a_sk^s + \lambda m|k}{|a_sk^s + \lambda m| + |a_n|k^{n+1}} \max_{|z|=k^2} |h'(z)|.$$

Applying (3.1) of Lemma 3.1 to (4.20), we have

$$k^{n-s-2} \max_{|z|=1} |g'(z)| \leq \frac{|a_n|k^n + |a_sk^s + \lambda m|k}{|a_sk^s + \lambda m| + |a_n|k^{n+1}} \Big\{ k^{2n-2s-2} \max_{|z|=1} |h'(z)| - |a_{s+2}| (k^{2n-2s-4} - k^{2n-2s-8}) (\sqrt{k^4 + 1} - 1) \Big\}$$

i.e.

$$(4.21) \quad \max_{|z|=1} |g'(z)| \leq \frac{|a_n|k^n + |a_sk^s + \lambda m|k}{|a_sk^s + \lambda m| + |a_n|k^{n+1}} \Big\{ k^{n-s} \max_{|z|=1} |h'(z)| \\ - |a_{s+2}| (k^{n-s-2} - k^{n-s-6}) (\sqrt{k^4 + 1} - 1) \Big\}.$$

By Lemma 3.5, we have

$$\max_{|z|=1} |g'(z)| + \max_{|z|=1} |h'(z)| \ge (n-s) \max_{|z|=1} |h(z)|,$$

and using (4.21), we get

$$\begin{aligned} \max_{|z|=1} |h'(z)| &\ge \frac{(n-s)(|a_sk^s + \lambda m| + |a_n|k^{n+1})}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \max_{|z|=1} |h(z)| \\ &+ \frac{|a_sk^s + \lambda m|k + |a_n|k^n}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ &\times |a_{s+2}|k^{n-s-6}(k^4 - 1)(\sqrt{k^4 + 1} - 1). \end{aligned}$$

By (4.4) and (4.7), we have

$$\max_{|z|=1} |j'(z)| \ge \frac{(n-s)(|a_sk^s + \lambda m| + |a_n|k^{n+1})}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1}+k^{2n-s})} \max_{|z|=1} |R(z)| + \frac{|a_sk^s + \lambda m|k + |a_n|k^n}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1}+k^{2n-s})} \times |a_{s+2}|k^{n-s-6}(k^4-1)(\sqrt{k^4+1}-1).$$

Again, by (4.1) and (4.3), we have

$$(4.22) \max_{|z|=1} |zp'(z) - sp(z)| \ge \frac{(n-s)(|a_sk^s + \lambda m| + |a_n|k^{n+1})}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1}+k^{2n-s})} \\ \times \max_{|z|=1} \left| p(z) + \frac{\lambda m}{k^s} z^s \right| \\ + \frac{|a_sk^s + \lambda m|k + |a_n|k^n}{|a_sk^s + \lambda m|(1+k^{n-s+1}) + |a_n|(k^{n+1}+k^{2n-s})} \\ \times |a_{s+2}|k^{n-s-6}(k^4-1)(\sqrt{k^4+1}-1).$$

For every complex number  $\lambda$ , we have  $|a_sk^s + \lambda m| \leq |a_s|k^s + |\lambda|m$ , and since both

$$\left(\frac{x+|a_n|k^{n+1}}{x(1+k^{n-s+1})+|a_n|(k^{n+1}+k^{2n-s})}\right) \text{ and } \left(\frac{xk+|a_n|k^n}{x(1+k^{n-s+1})+|a_n|(k^{n+1}+k^{2n-s})}\right)$$

are decreasing functions of x for  $k \ge 1$ , it follows from (4.22) that for every  $\lambda$  with  $|\lambda| < 1$  and |z| = 1,

$$(4.23) \max_{|z|=1} |zp'(z) - sp(z)| \ge \frac{(n-s)(|a_s|k^s + |\lambda|m + |a_n|k^{n+1})}{(|a_s|k^s + |\lambda|m)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ \times \max_{|z|=1} \left| p(z) + \frac{\lambda m}{k^s} z^s \right| \\ + \frac{(|a_s|k^s + |\lambda|m)k + |a_n|k^n}{(|a_s|k^s + |\lambda|m)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ \times |a_{s+2}|k^{n-s-6}(k^4 - 1)(\sqrt{k^4 + 1} - 1).$$

Suppose  $z_0$  on |z| = 1 is such that

(4.24) 
$$\max_{|z|=1} |p(z)| = |p(z_0)|.$$

Now,

(4.25) 
$$\left| p(z_0) + \frac{\lambda m z_0^s}{k^s} \right| \leq \max_{|z|=1} \left| p(z) + \frac{\lambda m z^s}{k^s} \right|$$

On the left hand side of inequality (4.25), for suitable choice of the argument of  $\lambda,$  we have

(4.26) 
$$\left| p(z_0) + \frac{\lambda m z_0^s}{k^s} \right| = |p(z_0)| + \frac{|\lambda|m}{k^s}.$$

Applying (4.24) and (4.26) to (4.25), we have

(4.27) 
$$\max_{|z|=1} |p(z)| + \frac{|\lambda|m}{k^s} \leqslant \max_{|z|=1} \left| p(z) + \frac{\lambda m}{k^s} z^s \right|$$

Applying (4.27) to (4.23), we get

$$(4.28) \max_{|z|=1} |zp'(z) - sp(z)| \ge \frac{(n-s)(|a_s|k^s + |\lambda|m + |a_n|k^{n+1})}{(|a_s|k^s + |\lambda|m)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ \times \left\{ \max_{|z|=1} |p(z)| + \frac{|\lambda|m}{k^s} \right\} \\ + \frac{|a_s|k^s + |\lambda|mk + |a_n|k^n}{(|a_s|k^s + |\lambda|m)(1 + k^{n-s+1}) + |a_n|(k^{n+1} + k^{2n-s})} \\ \times |a_{s+2}|k^{n-s-6}(k^4 - 1)(\sqrt{k^4 + 1} - 1).$$

Setting  $|\lambda| = l$ ,  $0 \le l < 1$  in (4.28) gives inequality (2.3) for  $n \ge 5$  and  $s \le n-5$ . For the case  $n \ge 4$  and s = n-4,  $n \ge 3$  and s = n-3,  $n \ge 2$  and s = n-2, the proof follows in a similar way as above but applying inequalities (3.2), (3.3) and (3.4) respectively instead of (3.1) of Lemma 3.1 to inequality (4.20).

PROOF OF THEOREM 2.1. The proof of Theorem 2.1 follows on the same lines as that of Theorem 2.2, just by taking  $\lambda = 0$ .

Acknowledgments. The authors wish to thank the referee for the valuable comments and suggestions.

100

### References

- 1. S. Bernstein, Lecons sur les propriétés extrémales et la meilleure approximation des functions analytiques d'une fonctions reele, Gauthier-Villars, Paris, 1926.
- C. Frappier, Q.I. Rahman, St. Ruscheweyh, New inequalities for polynomials, Trans. Am. Math. Soc. 288 (1985), 306–313.
- R. B. Gardner, N. K. Govil, G. V. Milovanović, Extremal Problems and Inequalities of Markov– Bernstein Type for Algebraic Polynomials, Math. Anal. Appl., Elsevier/Academic Press, London, 2022.
- 4. N.K. Govil, On the derivative of a polynomial, Proc. Am. Math. Soc. 41 (1973), 543-546.
- 5. \_\_\_\_, Some inequalities for the derivative of a polynomial, J. Approx. Theory **66** (1991), 29–35.
- N.K. Govil, Q.I. Rahman, G. Schmeisser, On the derivative of a polynomial, Ill. J. Math. 23 (1979), 319–329.
- V. K. Jain, On the derivative of a polynomial, Bull. Math. Soc. Sci. Math. Roum., Nouv. Sér. 59[107](4) (2016), 339–347.
- 8. M.A. Malik, On the derivative of a polynomial, J. Lond. Math. Soc. 1(2) (1969), 57-60.
- 9. M. Marden, *Geometry of Polynomials*, Math. Surv. Monogr. **3**, Am. Math. Soc., Providence, Rhode Island, 1966.
- G. V. Milovanović, D. S. Mitrinović, D. S. Rassias, *Topics in Polynomials: Extremal Properties, Inequalities, Zeros*, World Scientific, Singapore, 1994.
- A. Mir, A Turán-type inequality for polynomials, Indian J. Pure Appl. Math. 52 (2021), 911–914.
- Q. I. Rahman, G. Schmeisser, Analytic Theory of Polynomials, Lond. Math. Soc. Monogr., New Ser. 26, Clarendon Press, Oxford University Press, Oxford, 2002.
- 13. E. C. Titchmarsh, The Theory of Functions, Oxford University Press, Oxford, 1958.
- 14. P. Turán, Uber die Ableitung von Polynomen, Compos. Math. 7 (1939), 89-95.

Department of Mathematics National Institute of Technology Manipur Manipur Imphal India soraisam.robinson@gmail.com barchand\_2004@yahoo.co.in (Received 02 11 2022) (Revised 18 01 2023)

Department of Mathematics University of Semnan Semnan Iran mbidkham@semnan.ac.ir